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An orphan drug is -

1- A very cheap drug

2- A drug which has no therapeutic use

3- A drug needed for treatment or prevention of rare
disease.

4- A drug which acts on orphan in receptor
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Select the route of administration which carries the
highest risk of adversely affecting vital function
1- Intra-arterial injection

L fiat 2 Solution
2- Intrathecal |nj‘e<.:t|or.1 www.facebook.com/pharmavideo/
3- Intra-venous injection

4- Intra-muscular injection
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Route of Administration

Oral Route Intramuscular Route Topical Route
Buccal Route Intravenous Route Inhalation Route

Buccal/Sublingual Subcutaneous Route Rectal & Vaginal

Intrathecal Route & Intradermal Route

* In some books there is several classes, which are part of above class

Solution

Alkalization of urine hastens the excreation of-
1- Weakly basic drugs

2- Weakly acidic drugs
3- Strong electrolytes

4-Nonpolar drugs

Solution
www.facebook.com/pharmavideo/
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Solution
Marked redistribution is a feature of
1- Highly lipid soluble drugs
2- Poorly lipid soluble drugs Solution
3- Depot preparations www.facebook.com/pharmavideo/

4- High plasma protein bound drugs
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All these drugs cross the Blood-Brain Barrier (BBB)
EXCEPT (Explanations are most welcome)

1- Morphine

2- Dopamine Solution

3- Propranolol www.facebook.com/pharmavideo/

4- Ether
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The Blood Brain Barrier

Normal Blood Vessels vs.

Brain Blood Vessels

Pore passage Carrier-mediated transport

Lipid-soluble
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create the barrier

Capiitaries In cross section

ANSWER- THE RIGHT ANSWER IS- 02

Solution

v
souuTion .
N

Which of the following is a example of prodrug
( Explaination for prodrug is highly welcome)
1- Hydralazine
2- Clonidine
3-Captopril

4- Enalapril

Solution
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Which of the following is another name or type of
phase Il metabolism ( One of the most Imp question)
1- Oxidation

2- Reduction
3- Conjugation
4-Hydrolysis

Phase | CYPs
Phase Il
Glucuronidation
Sulphation

GUT CYPs and
phase ||

Solution
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Cytochrome P450 enzyme is mainly responsible for

metabolism. What is the exact meaning of P4507?

1- Scientist name

2- Receptor number

3- Max Wavelength (Lambda Max)

4- None of the above. Solution
www.facebook.com/pharmavideo/
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Renal Elimination
(Urine)

5

Biliary Elimination
(Stool)

M ism of drug bolism by liver

ANSWER- THE RIGHT ANSWER IS- 03

E Mail- solutionpharmacy@gmail.com & Reach solution at- www.facebook.com/pharmavideo/



. . Solution
Solution - - a
| Q - AM - @

Alcohol is eliminated by which of the following?
The drug excreted in saliva - (Most Important 1- Zero order kinetics

Question) 2- First order kinetics '
1- Tetracycline 3- Second order kinetics Solution
2- Ampicillin
T For pharmacy related experimental videos
4- Chloramphenicol p y p

Solution 4~ Third order kinetics www.facebook.com/pharmavideo/
www.facebook.com/pharmavideo/
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All of the following agents act by intracellular receptor The loading dose of a drug is governed by its-
EXCEPT

) 1- Renal clearance

1~ Thyrold Recaptor 2- Plasma half life

2- Vitamine D . L .

3- |nlsir|?rl,ne Solution 3- Volume of distribution (Vd)

www.facebook.com/pharmavideo/ o S Solution )
4- Steroids 4- Elimination rate constant www.facebook.com/pharmavideo/
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Which of the following exhibit a non-receptor
mediated action ( You are invited to give the MOA for
jourans) Solution

1- Alcohol www.facebook.com/pharmavideo/
2- Antipsychotic

3- Antacids

4- Benzodiazepines...

Ligand
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Drug producing allergic reaction generally acts as (or
Behave as)-

1- Complete Antagonist

2- Haptenes Solution

3- Antibodies www.facebook.com/pharmavideo/
4- Mediators
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Image credit- Adam

Nasal cavity:

5\\ allergic rhinitis
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The following is proven human teratogens-

1- Chloroquine

2- Warfarin sodium Solution

3- Dicyclomine www.facebook.com/pharmavideo/

4- Methyldopa

For pharmacy related experimental videos...
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The drug is known to produce phocomelia is-

1- Tetracycline

2- Thalidomide Solution

3- Warfarin www.facebook.com/pharmavideo/

4- Tetracycline

For pharmacy related experimental videos please visit
& subscribe solution on youtube.
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The agents which act commonly both on
parasympathetic and sympathetic division is-

1- Atropine

2- Pilocarpine Solution

3- Acetylcholine www.facebook.com/pharmavideo/
4- Adrenaline

Sympathetic pathways Parasympathetic pathways
use norepinephrine. use acetylcholine.

—— CNS —=

————ACh ———
o’ T

- *
I\ Nicotinic g
receptor
Autonomic Autonomuc
ganglion ganglion
, A Norepinephrine

Adrenerglc
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The mechanism by which botulinum toxin produce
skeletal muscle paralysis is by-

1- Enhancing release of norepinephrine

2- Inhibiting release of acetylcholine

3- Direct c@magmg to‘nerve cells Soliitioh

4- Producing hemolysis www.facebook.com/pharmavideo/
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BTXA inhibits ocetylcholine
ease from acetylcholine vesides
Nerve endings

musde contraction

Receptor

BTXA Mechanism of Action
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Which of the following secretion is NOT stimulated by
acetylcholine-

1- Tear N
3 olution
2- Bile www.facebook.com/pharmavideo/

3- Pancreatic juice
4- Sweat
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BLOCKING AUTO-ANTIBODIES (Myasthenia gravis)

Auto-antibody

to AChR
Muscle cell

Muscle activation
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Which of the following is used for mushroom
poisoning ( Frequently asked question)

1- Atropine

2- Physostigmine
3- Adrenaline

4- Carbachol

Solution
www.facebook.com/pharmavideo/
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THE CHEMISTRY OF MUSHROOM POISONS

Different varieties of mushrooms can contain a range of poisonous compounds. This graphic
looks at the major poisonous compounds in a number of common poisonous mushrooms.
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In the ameliorative test for myasthenia gravis which
drug is used?

1- Physostigmine '

2- Edrophonium www.facebog(lz.lggsnn/pharmavideo/

3- Tracrine

4- Pyridostigmine
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www.youtube.com/c/SOLUTIONpushpendra
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Which is the most important drug in the treatment of
organophosphate poisoning-

1- Atropine sulphate
2- Pralidoxime

3- Diazepam

4- Adrenaline

Solution
www.facebook.com/pharmavideo/
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Atropine produce the following action accept-
1- Tachycardia
2- Mydriasis
3- Dryness of mouth
4- Urinary Incontinence

Solution
www.facebook.com/pharmavideo/

For pharmacy related experimental videos...

BLADDER FILLING
& URINARY INCONTINENCE

SOURCE: WWW.DRELIST.COM

The bladder enlarges and a message The signal is ignored and the
is sent along the nerves 1o the brain bladder continues 10 fil

When the bladder is full 1f the signal is not recognised,

amore urgent signal is such as during sieep, the
sent to the brain peivic floor muscles relax and
the bladder empties, resulting
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The drug used for retinoscopy in 05-year-old child is-
1- Atropine

2- Homatropine
3- cyclopentolate
4- Tropicamide

Solution
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The adverse effects of Beta 2 agonist is-

1- Hypoglycemia

2- Hypomagnesemia Solution

3- Hypophosphatemia www.facebook.com/pharmavideo/

4- Hypokalemia
For pharmacy related experimental videos please visit

& subscribe solution on youtube.
www.youtube.com/c/SOLUTIONpushpendra

Mechanism of Beta 2 agonists
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A drug contraindicated in angle closure glaucoma is-
1- Pilocarpine

2- Atropine Solution
3-Dorzolamide www.facebook.com/pharmavideo/

4- Timolol

For pharmacy related experimental videos please visit
& subscribe solution on youtube.
www.youtube.com/c/SOLUTIONpushpendra

Normal Eye Eye with Glaucoma

Build Up of
\ Aqueous
Humor Fluid
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In case of poisoning which types of drug is not easily
removed by haemodialysis
1- Drug with large Vd )

" Solution
2- Drug with Small vd www.facebook.com/pharmavideo/
3- Both of them

4- None of them

Blood from arm
(anterial side)
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The common side effects of salbutamol is

1- Tremors

2- Hypertension Solution

3- Rhinorhheoa www.facebook.com/pharmavideo/
4- Headache
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Ventolin®
Inhaler

Salbutamol
CFC Free

Salbutamol BP 0.1 mg per dose

200 doses

@ GlaxoSmitt
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The receptor responsible for renin release is-

T=Ripoa Vasoconstrictor should not be used in-
2- Alpha 2 ;
3- Beta 1 Solution 1- Neurogenic shock

www.facebook.com/pharmavideo/

4- Beta 2 2- Hemorrhagic Shock

: ‘ » 3- Secondary Shock
For pharmacy related experimental videos please visit . \ .
& subscribe solution on youtube. 4- Hypotension due to spinal anaesthesia
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Solution
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Kidney

Angiotensinogen

t

Vasoconstriction

l

Increase Blood Pressure 4= Water Reabsorption
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. It will Take ti
in "CYP3A4/5" the number 3, stands for- 2 F\iv&razisaﬂ% 99%

1- Family 2- Lorazepam- (B) 90 % Solution

2- Subfamlly Solution . 2: gliraJ;ZZ(;I?nn-]_ :g; ;(0)‘;) www.facebook.com/pharmavideo/
. . www.facebook.com/pharmavideo/ P =
3- Binding Sites

-1-C, 2-B,3-D,4-A
4- Isoenzyme ' . N 1-C.2-B3-A4-D
For pharmacy related experimental videos please visit D

=

& subscribe solution on youtube. A

www.youtube.com/c/SOLUTIONpushpendra Ethanol Barbiturate
binding site binding site

N 1 L

Neuronal

C Y P 2 D 6 & l cell membrane
GABA/ Benzodiazepine e

binding site binding site

I

ANSWER- THE RIGHT ANSWER IS- 01 ARENEE SRR KN

2-B
, 2-C,3-B,4-A
2-D,3-C,4-B
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Ranitidine differ from cimetidine in the following
respgcts Solution

1- It is less potent www.facebook.com/pharmavideo/
2- It is shorter acting

3- It doesnt have antiandrogenic action

4-CNS side effect

»‘ Mechanism Of Action

‘!—
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